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Answer all the questions.
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INSTRUCTIONS
Candidates should read the following instructions carefully before answering the questions:

1. This bookles consists of 12 pages including this front page, contmning 100 questions, Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator's notice
any discrepancy.

2. Answers will have w be given in the Special Answer-Sheet supplicd for the purpose.

3. Before you proceed 1o mark in the Answer-Sheet in response (o various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent o you in the
Admit Card, Do not fold the Answer-Sheet as this will result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find fowr probable answers (A), (B},
{Ch and (D against each question. Find out which of the four answers appears (o you 1o be comect
or the best. Now darken the circle corresponding to the letter of the selected answer in the Answer-
Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Admit Card
and in the Answer-Sheet.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle {multiple
circle) or in wrong circle will be considered as wrong answer. If more than one circle is encoded
for a particular snswer, it will be treated as a wrong answer,

I
6. There will be negative marking of ] mark for each wrong answer.
7. There is a blank page ai the end of this Booklet for Rough Werk.

8. The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examination
Hall. You are permitted to take away the used Test Booklet after completion of the examination.
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1. Which country’s Parliament has become
the first national legislative body in the world 10
declare an environment and climate emergency?

(A)] United Kingdom
(B} Umited States of America
T A

{ Y] China

()

2. The Suez Canel 1= situated in
(A} MNigeria
(B) Libiya
(C) Egvpl
(¥ Palestine

3. Where was G20 Summit held in 200197
{A} Swsudi Arabia
(B} Argenting
() Ching
(D) Japan

4, The grass is digested in the rumen of o cow
through
(A) Enzyvmes
iB) Hydrolysis
(C) Cradation
l'l'?':- Microhes

3. In case of suspecied poisoning in cow, the
materials (o be preserved and send
(A} Stomach content
(B Intestinal contem
(C) Liver & Splaen

([ All of the above

A-2

b. dar ganng posture in pouliry may be
observed due to deficiency of
(A} Eiboflavin
(B Biotin
(Ch Thiamin

i Pyridoxin

7. Full form of SENSEX is
{A] Sensex Index
(B) Sensitive Index
(C} Sensitive Expon

(D} Sensor Index

B. Which 15 the largest automobile
manufacturing company in the World in 20197
(A) Toyola
(B) BMW
iC) Ford

i Yolkswagon

9. ‘W youjoinoffice today, please meet me.”
|5 alan
[A) Simpleé senfence
(B) Compound sentence
(L) Complex senience

(D} Interragative sentence

10. The FMD virus can survive in the infected

premises for
(A

(B & maonths

1 monihs

(3 9 months
D

! manths



11. The fourth proportional to 7. 11, 14 15
(&) 16
By 18
(C) 20
(D) 22

12. Ifthe radius of a circle is increased by 10%,

then percentage of increase of its area is
(A) 17
(B) 21
[C) 12
Dy 15

13, Myeotoxins are produced by
(A) Bacteria
{B) Fungus
(C) Mycoplasma
(D Protozo

14. “Shut the door,”—Here the subject of the
seflence, which i% sileat, should be
(A1
{B) You
{C) He
(D) They

15, Milk of buffalocontains an ingredient which
i more than cow-

(A3 Fat
{B} Protein
(C) Irom
(D Waler

A3 LVTi®

16. R. B.C. is nuclested in
{A) Rat
(H) Man
(C) Fowl
(D) Pig

17. 1f 21 is added to a number, it becomes 7 less
ihan thnce of the number. Then the number 15

(A} 16
(B 14
{C) 1%
(D) 19

18, The police said that on Thursday. _
found an abandoned suitcase in the Central Park,
[Fill in the blank with suitable word]
{A) they
(B) we
(C) it
(D) he

19. The headguarters of NASA is located in
(A Washington DC
(B) Mew York
{C) Chicago
(D} Los Angeles

20k It will not be possible 1o feed so many
people exhaustng all the available

rafions. [Fill i the blank with ihe most suitable
adverhial phruse]

(A) even as

(B even hefore

iC) evien bevond

{2} even afier
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21. The prevention of cruelty 1o Animal Act 26. Honey comb appearance is a characteristics
was enacted in the year of - o
(A} 55 {A) Rumen
i
(B} 1GH() (B Chmasum
- TrLn :
(0 194 (T} Reticulum
B
(D) 1960 (D) Abomasum
2 s | v 5 . 4 : -
22, I‘Ilhl'll[]..i. table __ the wall. [Fill in 27. Milk fever in cow can be treated with
the blank with the most appropriate preposition) (A) Calcium
(A) o Hi'm

(B) Phosphorus
(C1 Sodium

(D Potassium

(B beflom
(C) up

(D) against

I8. Red urine in cow occurs doe io
(A} Babesia
(B} Thetlaria
(C) Toxoplasma

23. Vitamin which may stain the urine is
(A)] Vitamin D
iB) Vitamin B
(Cy Viamin B,

{1 Eimena
(¥ Micotimamde

‘-1- Il'l- .2'_-'_ er‘I‘Ih’Jl|'Ji'~|:-I|||'ra-_-|_';_'ur||||_||.,. iJI'."ELll'."‘;i.'l:"'\:O.
=4, The girl has her grandmother. of
||'||I| Ilil?hl‘ blank with the most appropriate phrasal
vierh ! :
{4 taken m (B} lodide
[ {C) Fluonde
(B) tuken up JIEI L|-:.Ln-:l.
(C) tiken to (L) Brodnde

(LY taken after

). Find the last term in the seguence

25, Kidneys are lobulated in " 90, 152, 306, 462, 7
(&) Hogse A) 484
By Hh._'-.__-i: (B) 542
() “-.I!__' (Ch TR

DY Fow i &S50




31. Milk hvgiene is concemned with
(Al Milk-man
(B] Ammal
(C) Utensil
(D All of the above

32, Which is not the common system of goat
farming?
(A) Extensive svstem
(B) Intensive system
(2} Semi intensive sysiem
(D) Loose housing system

33, Most common source of lead wxicity is
(Al Pond water
(Bl Tubewell water
() Paint=Can
(¥ Milk

M. Antidote for organophosphorus poisoning
15

(A} Vilamm K
iB) Nalorphine
(C) Paralidoxime
(1) Endrophanium

A5, Conjunctivel mocus membrane in cow is
(A) Eoseate
(B} Reddish tinged
{C) Pole roseate
(D) Pale pank

A-5 LYT/19

36. When was Indian National Congress
Formed?

(A) 1882
(B) 1885
(C) 1888
(D} 1875

37. This newly-married husband and wife
apparently get along nicely. [Pick the phrasal verb
from the following which means the opposite of
the underlined phrase)

(A) fall in
(B) fall through
(C) fall out
(D3 fall for

J8. Which state has published the final drafi of
Mational Register of Citizens?

(A} Arunechal Pradesh
(B) Assum

iC) Tripura

() Meghalays

M. Paracetamo] 15 not indecated in
{A) Dog
(B) Cartle
(C) Horse
(D) Cat

40. Pathological material 1o be preserved for
despateh in
(A) Normal saline
(B 1{H: Dextrose
() 105 Formalin

{3 Rimger Lactate
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41. In cow, number of thoracic verichrae is 6. If 120% of o i= equal to B0% of b, then
LA 12 big
(B) 13 pmedl. equal to
14
({3 | (Al 6
(D) 15 i
(Bj 7
(C} 5
(I %

4L, 81449 5 4" £ 4™ i divisible by

Ay 17 = 2 .
i s 47. Time of ovulation in cow is
|
Cy 11 (A} 30-36 hrs from oestruy
L) L
" (B} 11-12 hrs after the onset of oestrus
{3 3

(L) 20-34F hrs of oestrus

(¥ 53-8 hrs of pesirus

43, Bodtle jaw condition appears in calf due 1o
iA} Fasciola
(B) Para amphistomes

48. Lock Jaw condition is seen in
{A) Rahjes
(B} Strichnine poisoning
(C) Toxaemia

(D Tetanus

{C) Dicrocoelium
(D Drirofilaria

48, Sodium chloride should not be used in
{A) Panting
(H) Heal siroke

H. Decreased rumen motility may occurs in
(A) Fever

(B} Hepatitis
: (C}) Abomasal impaction

(D) Ascites

(C) Pancreatitis
(D Oestrus

S0. According 10 Green Peace Data which

: coumry 15 the larpest emitter of S0 7
45. Insulin is secreted from pancreatic !

(A} w-cell (A) Ching
iB) B -cell (B} Russis
{(C) ¥ - cel (L) South Afnica

(T & -csll (¥ India




51. Incase of amificial insemination the semen
is deposited in
iA) Yagina
(B) s-cervix
(L) beyond cervix
(DY Vualvg

52, Injectable antiworm drug is
(A] Thiabendarole
(B) Piperazine
iC) Albendarole
(D) Ivermectn

a3, By selling an article for Rs. 1,400 aman lost

. Atwhat per cent should he have sold it to gain
kL

(A) Rs. 2600
(B) Rs. 1,500
(C) Rs 1,800
(D) Rs. 2000

4. Which of the following country has not
tested nuchear weapons?

(A] India

(B) Pakistan
(C) Morth Korea
(D) South Korea

20, Mr. Arun Jaitley was former- minister of
(A) Finance
(B) Defence
{C) External Affairs
(D) Home Affairs

A-7 LVT/9

3. In USA, where is Silicon Valley situated?
(A) Florida
(B} California
(C) Texas
(B Colorado

57. Which is the milch breed cow?
i(A) Red Sindhi
(B) Nagor
(C) Amritmahal
(D Malvi

58. Rodents can be killed by
(A) DDT
(B} Endrin
(C) Malathion
(0 Warfarin

5%, The scientist claimed that environmental
pol lution roused strong fears among the
sCientists about the future of the world. [Fill in the
blank with suitable verb]

(A) has
(B) have
{C) had
(D) will

6l), The capital of Finland is
(A) Helsinki
(B} Copenhagen
{C) Brossels
(¥} Sophia
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Bl. Which was the second capital of emperor
Akbar?

(&) Delha
{B) Agra
{C) Fatepur Sikri
(D) Patna

62, Indeshi cow, anoestrus is doe to deficiency
ol
(A) Vitamin B compliex
(B Yitamin A only
(C) Vitamin E only
(I3 Both Vitamin A and E

6Y. The ratio of the guantitics of an acid and
water 1n a mixiure & |03 IF 5 hres of acid is
further added to the mixiure, the new ratio becomes
| - 2, the quantity of new mixture in litres is

(A 32
(B 40
ch 42
(D 45

6d. 15305 of (b - o) = | 8% of {F + g}, then the
ratio a : b is equal o
(A) 4:1
By 5
(Ch 5:4
(D §:4

63. “The sight of the old Himalayas in the
morning. ¢lad i pure snow, always m!
[Fill in the blank with the most appropriste word
usaee|

(A} inspires
(B} stimulates
(L) 1gmites

() mifuences

66. Which of the following country signs
agreement with India 10 vperade railway lines?
(4) Russia
(B} Sn Lanka
(C) Bangladesh
(¥ China

67. Goat may die of pox mfection due o
iA) Dehyvdration
(B)] Anoxic anoxia
L) Septicasmia
(D) Toxacmis

68. When my son, Bibhu, wasin primary school,
would hgve a big discussion every other
day about how o celebrate birthdays. [Fill in the
blank with suitable word]
(&) 1
(B] he
(C) we
i us

69. Which country has suggested the name of
the cvelone “Fam™?
(A) Maldives
(B) Mvanmar

(C) Oman
{12) Bangladesh

T Which breed is worst victim of FM.D,7
(A} Jersey
(B} Beshi
(Y Hariana
(D) Sahiwal



T1. Gid is most comeon in
iA) Pig
(B) Cartle
() Poultry
(I} Goat

72 Functions of extension education are
(A) change in knowledge, aftitude and
skill,
(B} change in understanding.
(T change in goal and confidence.
(D) All of the above

T3 Theleast number which must be subtricied
from 2361 to make it a perfect square is

(A 57
(B 77
(C) a7
(D) 47

T4. The ratio of two numbers is 4 : 5, Their
H.C.F. is 5. Their L.C.M. iz

(A) 20
(B) 100
() 25
(D) 400

75. 'The painting is indeed very well done.”—
The word ‘very” in the sentence is

(A} an adverb

(B} an adjective

(C) asuperlative degree word
(D an mimtve

LYT/1%

T76. A call weighing 35kg should get at least
colostrum of following weight within 5 hrs:

(A) Make
(B) 2% kg
iC) 2kg

(D) 500 gm

77. Which of the agent can be given
intravenousty

(A) Ivermectin
{B) Vaccine
(C) Liver extract
(D Penicillin

78. Which gasis not emitted from cattle house !
(A) Ammonia
{B) Hydrogen Sulphate
{C) Methane
(D} Oygen

7. Fin point haemorrhage in R.D. occurs in
{4 Proventniculus
(B} Spleen
iC) Kidmey
(D) Liver

Bl A triun 150 metres long passeés o ree in
12 seconds. It will pass a unnel of 250 metres long
in

(A 26 seconds
(B 32 seconds
(C) 20 seconds

(D) 25 seconds
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Bl. °lfailed o _ ___that a bus was taking
& tum at the commer in froat.” [Fill in the blank with
the most appropriate word usage]
(A} observe
iBY nofice
I-'[.'? SO0
(0} loak

(09)° —(03)
FE

(a) 1.2

By 1.3

{C) (NG

(D) 05

81.

15 equal to

83. How can you give up the task so easily!
[Pick the phrasal verb from the following which
means the opposite of the underlined phrase|

(A} keep o
(B) keep at
(C) keepin
(D} keep away

B4. Which matenial is to be despatch in rabies?
(A) Spleen
(B) Kidney
(C} Liver
([¥ Brain

#5. To lower body temperature the drug of
choice is
(A} Phenvl butazone
(B} Nimusulamide
(C) Aspirin
(D Paracetamal

A-T0

B6. Metabolic ecidosis may occur due 10
(A} Crastric reflux
(B Chilonde loss
() Salivary loss
() Ketosis

o
N7, 3 of 64 + 30% of 7= 121

(A) 250
(B} 270
(C) 125
(¥ Mone of the above

88, According o the World Bank India ranked

__ largest economy in 2018,
(A 1 th
(B 8 ith
{C) 61h
(D} Tth

B9, Mumber of ribs in cattle is
(A) 13 pairy
(B} I8 pairs
() 14 pairs
(D) 12 pairs

™). The suitcase, full of books and stationaries,
lost yesterday, [Fill in the blank with
suitable verh)
(A 18
(B} was
(L) were
(D hid been




91 Phrenic nerve supply the
{A) Pharynx
(B) Dhaphragm
(C) Heart
‘(D Pemis

92, Death oceurs in mastitis due 10
(A} Dehydration
(B} Toxaemia
(C) Bacteracmia
(D} Ulceration

93. 64th Filmfure Award, 2018 for best feature
film in Hindi went to
(A) Razi
(B Sanju
{C) Andhadhun
(D) Badhai Ho

M. Which volatile fatty acid (VFA) is not
produced in raminal digestion of cellulose?
{4 Acetic acd
(B) Propionic acid
1C) Butyric acid
(D) Aceto-acetic acid

95. The money will go building a
new school building. [Fill in the blank with the
mosL appropriate preposition]

(A) o
(B) in
{C) for
(D) towards

A-11 LYT/I9

96. The Dircctive Principles of State Policy are
enshrined in of Indian Constitution.

(A} Pan ¥
(B) Pan V1
(Cy Pan [N
(D) Pam IV

97. Bestdilution of aleohol used as an antiseptic
is
(A) T0%
(B) 80%
(C)y Q0%
(D 100%

98. Tanesmus is a feature in
A} Gastritis
(B) Tetanus
(C) Strichnine poisoning
() Dyseniry

"9, In which year did Rabindranath Tagore
recetve the Nobel Pnize in Literature?

(A} 1910
(B) 1913
(Cr 1914
(D) 1917

f 1) - L
100, [ i'fiJm of| 3 J th of anumberis 240, What

is the number?
(A) 12
(B) 48
(Cy 1200
(D 4800
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